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Graphing Square

[Roo Functions
Parent graph: y = Vx

4

|a|] > 1 vertical stretch
|lal] < 1 vertical shrink
a < 0 reflects over x-axis

+k translation up
—k translation down

y =a\b(x—h)+k

|b| > 1 horizontal shrink
|b| < 1 horizontal stretch
b < 0 reflects over y-axis

— 3w

(x — h) translation right
(x + h) translation left

*We won't look at horizontal dilations until PreCalc

Describe each graph as compared to the parent graph.
A]_\’=§v,1'+3 Bly=—Vx—-1+4 | Cly=-3/=x

Djy=v-x+3
*warning!

Shape is

Endpointat( , )
Passes through( , )and( , )

Domain: Range:

from left to right

€111 1] )W \Write the equation from characteristics
Write the equation for a radical function with a
domain of x 2 -10 and a range of y < 20 that

passes through the point (-1,5).

Use these
given values

in the
equation to
solve for a.
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